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I 7 mwn: status of woman in labor ("vp)
a  Standard case: she is N
i Challenge: is every n1>y automatically a 0T (the niwn identifies one who is n2>1 'n’a NYpPn as a 212 NTYHY)
1 27 means that she is a 0 for that day (even if n1 "1 >wip) - WHRWNA 1MOR and goes to Mpn that night
(a) Story: with Ryar 72 89w and »oRr 11 regarding this ruling and 27’s “retraction” before his death
2 SN itis an anticipatory nn that we regard her as nar - in case she ceases pains (but continues bleeding)
3 jpny ' nwpn alone is nothing
(a) Challenge: mwn states nwpnn — N
(i) Answer (¥37): if during days of nT1 — she is n13; if during days of n2’t — MMV (support from rn»12)
(if) 2772 if she had "wop (1/2 days) then ceased (2/1 days) or had nwp then ceased again — this is 112 nTo>Y
1. But if: she ceased (1/2 days), then had nw>p (2/1 days) or had "vp, ceased then nwp again — not 22 n1o>Y
2. Rule: if the birth is immediately preceded by "2 (ceasing), 2312 nT9v; by »w’p — not 2112 NTHY
(iii) a22m, Y112 77's nephew: if her "wop is on her 3" day, even if the whole day is w2 — not 2112 n75v
1. Note: the “rule” in ®n» 1 intended to extend to X1n’s caveat
b If: she had nwp (w/bleeding) for 3 consecutive days during 11 days of na’r and then ceased for a period then birthed — 212 n5»
i »”rperiod is 24 hours
ii  yw7 7 must be a night and day (like naw)
1 And:had to cease pain but continue bleeding
II  Source for ruling in Mwn
a  (@7n) 8273z 0T (v. 1) only if it comes “from her” and not due to 1on (= >wip 0T isn’t RNY)
i Challenge: perhaps nnT excludes onr
ii ~ Answer: v. 1 (nnT1..nwRY) includes vny; NnT excludes o7 caused by Tom
1 Question: why declare onx nnnn o7 as Xnv and 151 npNR OT as NNO?
(a) Answerl: a 1o is followed by a period of 9mv b7, which isn’t true about oax
(b) Counter: 1R is MV in a case of men (1)
(i) Block: we are discussing nwr nrmv and within that context, o1R is always xnv
(c) Answer2: being 1nvn in case of V1R and Xnvn in case of 7o is inherently contradictory — no greater vnR than 75m
iii ~Challenge: why not interpret the same about nT (v. 2) and have »wp o7 during n71 'n’ rendered 1Y (per system above)
1 Answer (572w7): 2wn (v. 3 — in re: 9Mv D7) — there is another "n2w” like this —i.e. N1 M1 WP
(a) Challenge: why not interpret that it is 171 "2 »0p?
2 Rather (587 man): v. 3 defines nap1 N5y as “2 weeks NnT12” — not "Nt N>t is MY (meaning: N1 M MVIP)
(a) Question: why the need for nnT (v. 1), once we have v. 3?
(b) Answer: from v. 3 alone, 870 even if she ceases pain before birth still nmnv >nnT —and not due to o1
III x17's question: does »wp interrupt clean days for nar?
a  Lemmal: anything which is Xnvn interrupts — and this o7 is considered like nm 07
b  Lemma2: only that which itself would cause nkmv interrupts (and >w1p D7 doesn’t cause nxrNV)
i Answer (»1N8): proof from ar — who, if he sees due to v)IR, not Rnv; yet v1RN N»RY will cancel his n»p)
ii  Block (x27): this is also o7, since the 3™ n7”R7 doesn’t involve inquiry (o1R is also xnon — 2:1 rar)
1 Challenge: then, according to X" (who requires inquiry for 3¢ n»x1 [ibid]) — should cancel n»p)
(a) Answer: indeed, "™ would hold that it cancels n»p3
2 Challenge: R agrees that 4% n»&1 needs no inquiry — assumption — for n’no (>o1KR2 MR interrupts)
(@) Rejection: this nkmV is only for Rwn NRMY of that 11; but LIRA 7RI will not interrupt his 0»p)
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3 Challenge: R — the 3™ n»X1 requires nNp»71, but not the 4*; only needed for j27p, not for NN (even L1IRA 1R cancels)
4 Conclusion: according to X", even that which cannot cause nrmv will cancel 0»pa
(a) Question: what is 1327’s position?
(b) Answer (par ’7’s father, explaining why n2°r cancels all days, »37 only that day): n2»1 causes 7 days of nkn =»cancels 7
(i) But: p causes 1 day of nkmw=»cancels one day
(ii) Explanation:” na» causes 7 days” means as an interruption =»only that which causes nkmv can cancel it
5  »ax we hold that »v1p does not cancel clean days of na
(a) And if: we find a Xn2 indicating that it does cancel -must be authored by 8"

IV Dispute ®11/7aR regarding status of 1% 'n’ (7/14) as counting towards n»p1 (given, per 110 "1 —nPodoesn’t cancel n»pa of nar)

a

b

~27 counts —per v. 4 — 90N INR), must be without kMY interrupting; if it doesn’t cancel, must count towards n»pa
i »ax: that means that na>r shouldn’t interrupt the n»pa
37 W7 on Nan (v. 4) — but not Y31 nor AT (don’t cancel B»p))
i »an read w1Tn as excluding only one — nyn
ii ~ Analysis: if we accept 817’s version, we understand the mention of o'y as occasioned by mention of 075
iii ~ But if: we accept »aRr’s version — no need for nw77, as we already have parallel w7170 on v. 5 —wan 891 120
1 Defense: both needed; a1 isn’t b1R2 RNYN; Nar requires 3 days, whereas ar just needs 3 NRY
»725: doesn’t count — per WM on v. 6 (MNN7) —extending to Y»13, to nights and 212 N5y (requiring ©v»p1 1)
i Assumption: means n»p1 without N1 (which doesn’t count towards n»p)
ii  Rejection: may mean oTn n»p1
2725 R (3"10) comparing A9 12 to N1 M
i Just as: during nT1'w, can’t have na’t, nor have n»p1 't come during those days
it~ Similarly: during N »m, can’t have n21 =»10»p1 't aren’t counted during those days
1 A27 this is authored by 8™ who says that N7 not only doesn’t count, it is 1M (see above)
2 Challenge: can we infer a case where it is possible from one that is impossible (n»p1 't during nm1 "m)?
(a) Answerl (#2718 7): indeed, X™’s position is that 7war !RwN VAR PI7
(b) Answer2 (nww "7): the text pushed the two together (n72:01% - v. 6)
(i) Alternate version: naMR "1 represented nww "7 (and the first answer); 9”1 — represented the v. 6 “push”

V  Analysis of last clause of nwn — if she ceased for a segment of time

a

b

Assumption: she ceased the pains but continued bleeding
What if: she ceased both (no bleeding during “day-off”?)
i 7o 7 still RO
i N7 77 DMno
1 a»in 7 if a king goes out and his retinue leads them, we know that they are the king’s soldiers
2 x7on 1. all the more so, he should have more soldiers (if he is immediately due =if she stopped, earlier o7 was na’r)
iii ~ Challenge (to 87pn 77): in our MWwn — she ceased the pain but not from bleeding
1  Defense: certainly if she stopped both (all “soldiers” gone), but even if she only stopped pain, we may think that just
like she is still bleeding, she is also still having pains and is just unaware — 5"np
iv  Challenge (to 81211 77): our mwn - if she had 3 days of nw’p and then a 1-day cessation and then birthed — 2ra n19v
1 Clairification: if read as presented, why the need for 3 days of nvp — could be 2 days »w>p and 1 day of cessation
2 Rather: must mean that she had 3 days of 'wip and 1 day of nothing — no »w>p and no o7 - refuting 8y "
(a) Defense: read it conventionally; teaches that even if nvp began on 3" day and she then ceased ("Ww’p only) for 1
day - still n®nv, contra ruling of X310 "3 (YW1’ "1's nephew - in the Xn»1 above)

VI n mwn: dispute among 1327 as to possible duration of nwp (explicated and analyzed on p. 31)
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